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Solve the Following:
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Michel went to 64 football games this year. He went to 30 games last year.
How many football games did Michel go altogether?
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Memorial Elementary School is having a school play. 6 students from each
of the 14 classroom will be chosen to be in the play. How many students will
be in the schol play altogether?

Victor had £ 87 in his pocket. He spent £ 28 at the candy store. Later, he
bought a pen for £ 32. How much money did Victor have left?

Harry has £ 6. Hamid has £ 8 More than Harry. How much money does
Hamid have?

Kerry has 62 Magical Methods books. Will has 39 Magical Methods books.
How many more Magical Methods books does Kerry have than Will?

At Tot Toys, a toy car cost £ 4 less than a toy rocket. A toy rocket cost £ 11.
How much does the toy car cost?

Verna and Serna measured their height. Their height is 120 inches. Verna is
50 inches tall. How tall is Serna?

Yuvi has 12 marbles and Dravin has 2 marbles. They want to have the same
number of marbles. How many marbles should Yuvi give to Dravin so both
boys have the same number of marbles?
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Benty sells golf balls. She sold 4 to Baby, 18 to Mahboob and 5 to David.  
She had 7 golf balls left. How many golf balls did Benty have at first?

Think of any single digit number ................................
Multiply it by 2, then Multiply by 5, then Multiply by 10, then Add 9, then  
Subtract 7, then Add 8. What is the result?


